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Vansoura Universty | &l
Faculty of Science l '@J
| Physics Department L &S5

Second Term Examination June2009
Academic Level: First Level
Time: 2 Hours
Subject: Electricity & Magnetism &Optics
Full Mark: 60 Marks
Answer the Following Questions
| (1] a- Define the following terms: i - Refractive index , ii -
! iv - vergence , v - numerical aperture of optical fibers.

b- Through the electro static cours
distance r from a positive poi
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Dispersive power, iii - wave front,

e, you obtained the electric field at a point |
nt charge (Q) by different ways .Explain th

[5] Mark

ocated at a
ree methods of
[10] Mark

. e in detail.
[2] a- Lens aberration is @ problem facing the use o

to correct it. [5] Mark
l

b- Explain how Pulfrich Refractometer can be used to measure
(S)

the refractive indices of solids and liquids. [5] Mark

c- For the configuration and the data shown in the figure ,
“use Snell’s law of refraction to find the incidence angle © .

_[3] ‘a- Calculate the net torque T on an electric dipole placed
in a uniform electric field E ,where the dipole moment

makes an angle © with the field. [5] Mark

b- In the circuit shown, determine the current in
each resistor, after a long time of operation,
and the energy stored in the capacitor.

10] Mark
[ ! 90() Q2

4

f lenses. Explain how it occurs and the way

n,=1.33

[5] Mark
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[4] a- Define the foilowing terms: i -
electric potential energy difference, i
constant

b- An insulating sphere of radius a has

inside the sphere (r < a) . Comment on your answer

Coulombs force, ii - Electric field, iii - Electric potential and
v -Equipotential surface, v - Electric flux ,vi - Dielectric

! a uniform charge density p and a total positive
charge Q .Calculate the electric field at a point outside the s

[7]1 Mark

phere (r>a), and at a point
[8] Mark

“Examiners: 1- Prof. Dr. Fikry Reicha
3- Dr. Mohamed Mansour 4-.
~ 6- Dr Abd-Elkareem Abu Elwafa

Dr.Mohamed Kabeel
7- Dr. Nabil Kinawy

2- Prof Dr. Maher Eltonsy
5-Dr. Hesham Gomaa
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